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/�)������0�
%���!��� 1!�!%��$���$��!#� %!2 ��"%3 ��)���
������� ��	
� ��
�������3
'��(%�� %!4 ��)!���*(�04 "�!��� !��� !$��! +
,
 �����!��3
%�1���� ����!! 1"�%)!4 ! 1"�%)!���*(��&� ���*!��
$�2��!%��$���$��!#� %�&� 1�%"*(����3

%���!��� 1!�!%��$���$��!#� %!2 ��"%3 ��)���
�������	�� ����� ����������3
'��(%�� %!4 ��)!���*(�04 "�!��� !��� !$��! +
,
 �����!��3
�����"56!4 %�1����4 �0 7�4 $���$��!%!
1!�!#� %�&� 1�%"*(����

� �

8!��4��� �*&�9��
 :9���!% ����#� "#�9���$����!#� %�� -� �9!�
;
:� ���!��*(� ,
�
 ���1<����
 = '
� ',� !$��! +
 ,
 �����!��3
����
 = >�  


������ -� �9!� -��������#��� �*�  �"������ -����&� %"� � 1!�!#� %�&� ! ���!��
1!�!#� %�&� 1�%"*(�����
 ?����!�* -� �9!� ���9!� �� ��$03  ������ ��"56!� ��$�$
-��%�!#� %!2 �����!4 ! ���0 ����#! �*� �"�!�����4 ! ��$�7��4 ��9��0
 �� �9!� ���
*��� �  9���!%�$ ��-�*�!��*(�02 ����# % "#�9��$" -� �9!5 :
,
 @!���%� A8!��4���
�*&�9��A B�C
 + -��)�  � !�"#��!� %"� � A8!��4��� �*&�9��A  �"����0 ��*��0 �0�
-�*�!�( ��� D�@ �!��!�!�"�*(�02 ��$�7�!2 �����!�� B�C
 + -� �9!! -�!����� ��% �
�9�� #! *��02 ����02� " *��!4 E�!2 �����!4
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 ,
 �����!��3 ����

� F
 +
 �*�#%�3 ,
 �
 ���1�����3 ����
� ?�%�� �9*��%! D
 ,
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�
��� �������! ���
����� #)

$! ��* + ##

&! �������� 	�����	�� � �! ������� 
 ����	� '���
��
(��	 � 	'��� 	�����	��� )'������ 	�����	� #�

 )! ������� ����!	�� � �	
	�� '���
��
 '������ 	�����	� #'

  !�	'
�
����� 
���	�� � 
	'
�
����� �������& 	�����	�� #(

 #!��	���	�� � 
���������	� ����	%���� ���*	��������	*	 	��+
���	�� #$

 %! ,�������� � �
����	
� ��	
����
�
� %)

 �! ����������	� ����	%���� 
��	
	��&%���	*	
� �������	*	 	�����	�� %#
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���������� �	��� %(

 '! ��* ++ %$
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?���� *!  %����(3 #�� ��&��!���� -��7*�� ��!�9���� �-����*��� ��7� 9"�"6��G
,�"��*! "#�9� � -�2�4 7%�*�3 �� ���7�4 9*� ��6!2 ����!43 �9��%��� $�*��02 *5��4G
,�"��*! � �	 *�� �!#�&� "�� �����$���� !�$��!�(G ����#�� �� ���
 85�! ����*��0
 ��9���4 ��*!
 ?0  �$! �09!���$ %�%�4 9"��� ��7� �!��(
 + � -��-�������*! ���
*�5�  ��!$ "#��!%�$ !  �"�����$  �$�&� *"#7�&�3 -�E��$" 2���*! 90 �9H� �!�(3 %�%
 ��*��( -���!*(�04 �09��
 F�"��� *! !�"#!�(3 � � #�� ���9"�� � �*� ��&�3 #�� 90
 ���(  -�)!�*! ��$ � �09�����4 -��1�  !!G ,!#�&� �����$����&� �!%�&�� �� ����
9"�� �
 + � -���H��*�$0� %  �"�����$ � -��)�  � "#�90 ! �� E%��$��2 ���9����!�
-�� �03 ���"$�0 ! � �$ -�  !*�$ !2 �0-�*�!�(


������ -� �9!� -��������#��� �*�  �"������ -����&� %"� � 1!�!#� %�&� ! ���!��
1!�!#� %�&� 1�%"*(�����
 ?����!�* -� �9!� ���9!� �� ��$03  ������ ��"56!� ��$�$
-��%�!#� %!2 �����!4 ! ���0 ����#! �*� �"�!�����4 ! ��$�7��4 ��9��0
 �� �9!� ���
*��� �  9���!%�$ ��-�*�!��*(�02 ����# % "#�9��$" -� �9!5 :
,
 @!���%� A8!��4���
�*&�9��A B�C 


+ -��)�  � !�"#��!� %"� � A8!��4��� �*&�9��A  �"����0 ��*��0 �0-�*�!�( ���
D�@ �!��!�!�"�*(�02 ��$�7�!2 �����!�� B�C 
 + -� �9!! -�!����� ��% � �9�� #! *��
�02 ����02� " *��!4 E�!2 �����!4


+ -��)�  � -��&����%! �����&� -� �9!� 90* ! -�*(����� $��&�*���!4 �-0� -���
-������!� E��&� %"� � �� 1!�!#� %�$ ! ���!�1!�!#� %�$ 1�%"*(����2 '��(%�� %�&�
��)!���*(��&� "�!��� !���� !$��! +
,
 �����!�� ! "#�9�"5 *!�����"�" !�  -! %� �
%��)� -� �9!�


I���� �0������  ��5 ! %����55 9*�&������ �( :
,
 @!���%�3 ,
D
 �����2�����43
:
:
 I-� ��*��" ! ��)�������$ �
+
 �������(��" ! J
?
 ���%���4 �� %�!�!#� %!�
��$�#��!� ! )���0� ��%�$����)!!
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�,��������� �������
� ,�����������/
?���� ��� L E*�$����� *59�4 -�!���0 ���0��5� �������� �	
��	
����
� ����

�
� �
��� K3 � *!
������ �������� ���	��
�� L3 �
�
 ��%��3 -� %�����$" *590$ E*�$����$ x, y ∈ L

 ���!� � �  ������ ��!� E*�$��� !� L3 ���0���$04  "$$�4 E*�$����� x ! y ! �9�����
#��$04 x⊕yK

������ �	������� ���	��

 �
 ����� ���
���� α ∈ K3 �
�
 ��%��3 -� %�����$" *5�
9�$" E*�$���" x ∈ L ! *59�$" #! *" α ∈ K  ���!� � �  ������ ��!� E*�$��� !� L3
���0���$04 -��!������!�$ E*�$���� x �� #! *� α ! �9����#��$04 α�xK

"%�����0� ��%��0 �*!��4�0� �-���)!!� -��#!��5� �  *��"56!$ 
����	
	 ������
���� ����
�
��
�
�
1� ∀x, y ∈ L x⊕y = y⊕x, ����������	
���� �
���
���

2� ∀x, y, z ∈ L (x⊕y)⊕z = x⊕(y⊕z), ����������	
���� �
���
���

3� ∃ θ ∈ L ∀x ∈ L x⊕θ = x, �������
�
�� 
�����
�
��� �
���
���

4� ∀x ∈ L ∃(−x) ∈ L x⊕(−x) = θ, �������
�
�� �����	���
��
��� �
���
���

5� ∀α ∈ K ∀x, y ∈ L α�(x⊕y) = α�x⊕α�y, �����������	
���� �
���
���

6� ∀α, β ∈ K ∀x ∈ L (α + β)�x = α�x⊕β�x, �����������	
���� �
���
���

7� ∀α, β ∈ K ∀x ∈ L (α · β)�x = α�(β�x), ����������	
���� ��
���
�� 
� ���
��

8� 1 ∈ K, ∀x ∈ L 1�x = x. ���
���
�� 
� ���
��� ��
��

*�0�����1/
�
 L! *��0� -�*�� Q, R, C


�,� �!2 �-����*��0  *����!�3 �0#!���!�3 "$�����!� ! ��*��!� �%��$� ��*��!� �� ��
�� �0����6!� !� E��&� $���� ���
 ������ �-���)!� ��� *590$! ��"$� #! *�$! !�
E��&� $���� ��� ��<� #! *� !� E��&� �� $���� ���
�

�
 8!��4��� -�� ���� ��� ��� -�*�$ R M ����������
� *!��4��� -�� ���� ���

8!��4��� -�� ���� ��� ��� -�*�$ C M �
�������
� *!��4��� -�� ���� ���

�*� %���%� �!3 #� �� "-����9*�5� ���$!� ������
� �	
��	
����
 �� "��#�����

-�*�

�
 J9����#��(  *����!�3 "$�����!�3 ��*( ! -���!����*���04 E*�$��� � -�*� ! �

8� ��!��%��0$! ���#%�$! �� �-�*�� 2���7�3 �� �#��( "��9��N + � 1��$"*0 �90#��4
7%�*(��4 �*&�9�03 %����0� � $0 *���0 � �����4  !�"�)!!3 �%��0��5� � ����0$!

��E��$" ⊕,�, (−x) ! θ 9"��$ ! -�*(�����( ��*(%� �� -���02 �����!�2


�



�
�
 J9���"�� *! *!��4��� -�� ���� ��� ��� -�*�$ R $���� ��� L  "%�����0$! �-��
��)!�$!  *����!� ! "$�����!� �� ��6� ������� #! *� (n ∈ N)G

�O� L = Pn = {$���� ��� $��&�#*����  ��6� �����0$! %�E11!)!����$! ����

���� �� �	
� n  �90#�0$! �-���)!�$!  *����!� ! "$�����!�
�� #! *�P


�Q� L = {$���� ��� $��&�#*����  ��6� �����0$! %�E11!)!����$! �������

����
� �
��
 n  �90#�0$! �-���)!�$!  *����!� ! "$�����!� �� #! �
*�P


�R� L = {$���� ��� $��&�#*���� �� x  ��6� �����0$! %�E11!)!����$!  ���
-��! �� �07� �3 " %����02 %�E11!)!��� -�! x3 ����� �  �90#�0$!
�-���)!�$!  *����!� ! "$�����!� �� #! *�P


�S� L = {$���� ���  ��*9)��  n ��6� �����0$! ���*!#�0$! E*�$����$!  -��
E*�$����0$! �-���)!�$!  *����!� ! "$�����!� �� #! *�P


�T� L = R∗ = {$���� ��� -�*��!��*(�02 ��6� �����02 #! �*3 � *!  "$$" E*��
$����� x ! y �-����*!�( %�% !2 -��!������!� x ·y, � -��!������!�
E*�$���� x �� ��6� ������� #! *� α U %�%  ��-��( xαP


�V� L = C[a, b] = {$���� ��� � �2 ��-���0��02 1"�%)!4 �� �����%� [a, b]  -����
#�#�0$! �-���)!�$!  *����!� ! "$�����!� �� #! *�P


�
�
 J9���"�� *! *!��4��� -�� ���� ��� ��� -�*�$ C $���� ���  "%�����0$! �-��
��)!�$!  *����!� ! "$�����!� �� %�$-*�% ��� #! *� (n, m ∈ N)G

�O� L = Cn = {$���� ���  ��*9)��  n %�$-*�% �0$! E*�$����$!  -�E*�$����
�0$! �-���)!�$!  *����!� ! "$�����!� �� #! *�P


�Q� L = Cm×n = {$���� ��� m×n $���!)  %�$-*�% �0$! E*�$����$!  -�E*��
$����0$! �-���)!�$!  *����!� ! "$�����!� �� #! *�P


�
�
 W�*��� � *!  ! ��$� ��%����� *!��4�� �����! !$�4 � *!��4��$ -�� ���� ��� LG

�O� {1, x, x2, . . . , xn}, L = Pn.

�Q� {1, x − α, (x − α)2, . . . , (x − α)n}, L = Pn.

�R� {1, x − α, (x − α)2, x2}, L = P2.

�S� {x, 2x}, L = C[a, b].

�T� {cos(x), cos(2x), cos(3x)}, L = C[0,π
2 ].

�
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�
>
 J9���"�� *! *!��4��� -�� ���� ��� ��� -�*�$ R $���� ��� L  "%�����0$! �-��
��)!�$!  *����!� ! "$�����!� �� ��6� ������� #! *�G

�O� L = Rn = {$���� ���  ��*9)��  n ��6� �����0$! E*�$����$!  -�E*�$����
�0$! �-���)!�$!  *����!� ! "$�����!� �� #! *�P


�Q� L = {$���� ���  ��*9)��  n ��6� �����0$! E*�$����$! ��%!$!3 #��  "$�
$� � �2 E*�$����� ����� �3  -�E*�$����0$! �-���)!�$!  *����!� !
"$�����!� �� #! *�P


�R� L = {$���� ���  ��*9)��  n ��6� �����0$! E*�$����$!3 ����0$! ��"& ��"�
&"  -�E*�$����0$! �-���)!�$!  *����!� ! "$�����!� �� #! *�P


�S� L = {$���� ��� $��&�#*���� �� x  ��6� �����0$! %�E11!)!����$!  ���
-��! �� �07� �3 " %����02 %�E11!)!��� -�! x3 ����� �  �90#�0$!
�-���)!�$!  *����!� ! "$�����!� �� #! *�P


�T� L = {$���� ��� 1"�%)!4 �!�� A cos(x + α), &�� A ! α U -��!���*(�0� ���
6� �����0� #! *�3  �90#�0$! �-���)!�$!  *����!� ! "$�����!� ��
#! *�P


�V� L = C = {$���� ��� � �2 %�$-*�% �02 #! �*  �90#�0$! �-���)!�$!  *��
���!� ! "$�����!� �� ��6� ������� #! *�P


�
�
 J9���"�� *! *!��4��� -�� ���� ��� ��� -�*�$ C $���� ���  "%�����0$! �-��
��)!�$!  *����!� ! "$�����!� �� %�$-*�% ��� #! *�G

�O� L = {$���� ���  ��*9)��  n %�$-*�% �0$! E*�$����$!3 ����0$! ��"& ��"�
&"  -�E*�$����0$! �-���)!�$!  *����!� ! "$�����!� �� #! *�P


�Q� L = {$���� ���  !$$���!#� %!2 %�������02 $���!) n�&� -����%�  %�$�
-*�% �0$! E*�$����$!  -�E*�$����0$! �-���)!�$!  *����!� ! "$���
���!� �� #! *� �$���!)� A = (aij)n×n ���0���� � ������	���
�3 � *!
A = AT , �
�
 aij = aj i, i, j = 1, . . . , n�P


�
�
 W�*��� � *!  ! ��$� ��%����� *!��4�� �����! !$�4 � *!��4��$ -�� ���� ��� LG

�O� {x, x2, 2x(x + 3)}, L = C[a, b].

�Q� {sin(x), sin(2x), sin(3x)}, L = C[0,π
2 ].

�R� {sin(x), cos(x), sin(x + 2)}, L !� ����#! �
>T


�S�

{(
1 0
0 0

)
,

(
0 1
1 0

)
,

(
0 0
0 1

)}
, L !� ����#! �
�Q3 n = 2.

�
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�
�
 W�*�5� � *!  ! ��$0 ��%����� !� ����#! �
� �O�T� -�*�0$! � �������$ *!��4��$
-�� ���� ��� LG

�
�
 �%����( %�%�4�*!9� 9��! � *!��4��$ -�� ���� ��� L !� ����# �
� �O3 R3 T�3 �
� �O3
Q�
 ,�4�! ���$���� �( L


�
�
 ,�4�! %����!���0 ��%���� f *!��4��&� -�� ���� ��� L � 9��! � �


�O� f = 2 cos(x + 3), L !� ����#! �
>T3 � = {cos x, sin x}.
�Q� f = A cos(x + α), L !� ����#! �
>T3 � = {cos x, sin x}.
�R� f = 2 + 3x − 5x2 + 4x5, L = Pn3 � = {1, x, x2, . . . , xn}.
�S� f = a0 + a1x + a2x

2 + . . . + anx
n, L = Pn3 �{1, x − α, (x − α)2, . . . , (x − α)n}.

�
>
 W�*�5� � *! ����$����� -�� ���� ��� &��$���!#� %!2 ��%����� ! -�� ���� ���
!� ����#! �
�T !��$��1�0$!


.	��/��� ������� 1�

�
�
 W�*�5� � *!  ! ��$0 ��%����� !� ����#! �
� �O�R� -�*�0$! � �������$ *!��4��$
-�� ���� ��� LG

�
�
 �%����( %�%�4�*!9� 9��! � *!��4��$ -�� ���� ��� L !� ����# �
> �O3 R3 T3 V�3 �
� �O3
Q�
 ,�4�! ���$���� �( L


�
	
 ,�4�! %����!���0 ��%���� f *!��4��&� -�� ���� ��� L � 9��! � �


�O� f = 2 sin(x + 3), L !� ����#! �
>T3 � = {cos x, sin x}.
�Q� f = A sin(x + α), L !� ����#! �
>T3 � = {cos x, sin x}.
�R� f = a0 + a1x + a2x

2 + . . . + anx
n, L = Pn3 � = {1, x, x2, . . . , xn}.

�S� f = −2 + 5x2 + 4x3, L = Pn3 � = {1, x − 1, (x − 1)2, . . . , (x − 1)n}.
�


 W�*�5� � *! ���2$����� -�� ���� ��� &��$���!#� %!2 ��%����� ! -�� ���� ���

 ���%3  � ���6!2 !� � E*�$�����3 !��$��1�0$!


�



�� �	���	
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�
�� ����� � ����
������

�	���	
����
�


�
�
 +0� �!�(3 ��*��� � *! *!��4�0$ -��-�� ���� ���$ ������ $���� ��� M ��%�
����� � ��6� ������$ *!��4��$ -�� ���� ��� L, ! � *! ��*��� �3 �� ��4�! �&�
���$���� �(�

L = Rn = { ����������
� �

	���
��
� �	
��	
����
 � �	
��	
����

��
���
� ���
�� n � ������������� �������
��P


�O� M = {$���� ��� ��%�����3 � � %����!���0 %����02 ����0 $���"  �9�4P


�Q� M = {$���� ��� ��%�����3  "$$� %����!��� %����02 ����� �P


L = V3 = { ��
���	�����
� �	
��	
����
 � ��
�����
 ����
	
� �	
�
��	
����
 ��
�	
������� 
�	���
� �� 
����
 �
�
�
� !

�R� M = {$���� ��� ��%����� -*� %� �!3 -���**�*(�02 �����4 -��$�4P


�S� M = {$���� ��� ��%����� x, �*� %����02  %�*����� -��!������!�  
����0$ ��%����$ x0 �= 0 ����� a� (x, x0) = a, &�� a = ������ #! *�P


�T� M = {$���� ��� ��%����� -*� %� �!3 �9���"56!2 "&�* α  �����4
-��$�4 (0 ≤ α ≤ π/2)P


L = Rn×n = Mn,n = { ������
� �	
��	
����
 ������������ ��
�	
����
�
�	�� n��
 �
	"��
P


�V� M = {$���� ��� $���!)  �� �"*���4 -����4  ���%�4P


�X� M = {$���� ��� �!������"&�*(�02 $���!)P


�Y� M = {$���� ��� %� � !$$���!#� %!2 $���!)P


�Z� M = {$���� ��� �0�������02 $���!)P


L = F[a,b] = { ������
� �	
��	
����
 #$�����% 
�	��������� �
 [a, b]P


�[� M = {$���� ��� 1"�%)!43 �!11����)!�"�$02 �� [a, b]P


�\� M = {$���� ��� 1"�%)!4 ��%!23 #�� sup
[a,b]

|f(x)| ≤ 1P


�]� M = {$���� ��� 1"�%)!43 �����!)���*(�02 �� [a, b]P


�^� M = {$���� ��� 1"�%)!4 ��%!23 #�� f(a) = 0P


�_� M = {$���� ��� 1"�%)!4 ��%!23 #�� lim
x→a+0

f(x) = ∞P


�`� M = {$���� ��� 1"�%)!43 $�������02 �� [a, b]P


�



�
�
 ���0 ��� -��-�� ���� ��� L1,L2 *!��4��&� ��6� ������&� -�� ���� ��� L
 ,�4�
�! 9��! ! ���$���� �(  "$$0 L1 + L2 ! -��� �#��!� L1

⋂
L2
 ������!�(  -���

���*!�� �( 1��$"*0 a��  $���


L1 = {x : x =




0
0
0
ξ4

ξ5

ξ6



}, L2 = {y : y =




0
η2

η3

η4

0
0



}, L = R6.

�
�
 W�*��� � *!  ! ��$� ��%����� *!��4�� ���! !$�4 � R4G b *! ��3 �� ��4�! E�"
���! !$� �(


a1 =




1
−2
−1

2


 , a2 =




1
−4
−1

3


 , a3 =




2
−2
−2

3


 .

�
>
 ,�4�! 9��! ! ���$���� �( *!��4��4 �9�*�#%!  ! ��$0 ��%����� � R4 !*! � R5,
 ������ ������


�O� a1 =




1
0

−1
1


 , a2 =




1
−4
−1

3


 , a3 =




2
−2
−2

3


 , a4 =




1
−1
−2

2


 ;

�Q� a1 =




1
−3
−1

2
3


 , a2 =




1
1
0

−2
4


 , a3 =




0
−3
−1

4
−1


 , a4 =




−1
−9
−2
10
−6


 .

�
�
 ,�4�! 9��! ! ���$���� �(  "$$0 ��"2 -��-�� ���� �� L1+L2 � R5


L1 = Lin{a1 =




1
−3
−1

2
3


 , a2 =




1
1
0

−2
4


}, L2 = Lin{b1 =




0
−3
−1

4
−1


 , b2 =




−1
−9
−2
10
−6


}.

�	



.	��/��� ������� 2�

�
�
 +0� �!�(3 ��*��� � *! *!��4�0$ -��-�� ���� ���$ ������ $���� ��� M ��%�
����� � ��6� ������$ *!��4��$ -�� ���� ��� L, ! � *! ��*��� �3 �� ��4�! �&�
���$���� �(�

L = Rn

�O� M = {$���� ��� ��%�����3 -����� %����!���� %����02 ����� �P


�Q� M = {$���� ��� ��%�����3  "$$� %����!��� %����02 ����� �P


L = V3

�O� M = {$���� ��� ��%�����3 -��-���!%"*���02 �����4 -��$�4P


�Q� M = {$���� ��� ��%����� x3 �*� %����02 ��%������ -��!������!�  ����0$
��%����$ x0 �= 0 ����� a� [x, x0] = a, &�� a U ����04 ��%���P


�R� M = {$���� ��� ��%�����3 -� $��"*5 �� -���� 2���6!2 �P


L = Rn×n = Mn,n

�O� M = {$���� ��� �!�&���*(�02 $���!)P


�Q� M = {$���� ��� ���2�� ���"&�*(�02 $���!)P


�R� M = {$���� ���  !$$���!#� %!2 $���!)P


�S� M = {$���� ��� $���!) X, "���*������56!2 " *��!5 AX = XA, &�� A =
������ n × n�$���!)�P


L = F[a,b]

�O� M = {$���� ��� 1"�%)!43 !���&�!�"�$02 -� /!$��" �� [a, b]P


�Q� M = {$���� ��� 1"�%)!43 �&���!#���02 �� [a, b]P


�R� M = {$���� ��� 1"�%)!43 ���!)���*(�02 �� [a, b]P


�S� M = {$���� ��� 1"�%)!4 ��%!23 #�� f(a) = 1P


�T� M = {$���� ��� 1"�%)!4 ��%!23 #�� f(a) = f(b)P


�V� M = {$���� ��� 1"�%)!43 $�������� ����� ��56!2 �� [a, b]P


�
	
 �2 !�!� ���0 ��� -��-�� ���� ��� L1,L2 *!��4��&� ��6� ������&� -�� ���� ���
L
 ,�4�! 9��! ! ���$���� �(  "$$0 L1 + L2 ! -��� �#��!� L1

⋂
L2
 ������!�(

 -�����*!�� �( 1��$"*0 a��  $���


L1 = {p(t) : p(t) = a0 + a1t
1 + a2t

2 + a3t
3},

L2 = {q(t) : q(t) = b2t
2 + b3t

3 + b4t
4},

L = P4

��



�


 �2#! !� W�*��� � *!  ! ��$� ��%����� *!��4�� ���! !$�4 � R4G b *! ��3 �� ��4�!
E�" ���! !$� �(


a1 =




1
−3
−2

3


 , a2 =




1
−2

2
3


 , a3 =




0
−2
−8

0


 , a4 =




−1
1

−6
−3




�
�
 �2#!#!� ,�4�! 9��! ! ���$���� �( *!��4��4 �9�*�#%!  ! ��$0 ��%����� � R4

!*! � R5,  ������ ������


�O� a1 =




1
2
2
1


 , a2 =




3
7
2
2


 , a3 =




4
10
0
2


 , a4 =




2
5
0
1




�Q� a1 =




1
−3

2
−1
−3


 , a2 =




1
−2

3
−3
−2


 , a3 =




−2
4

−5
−2
−3


 , a4 =




2
−7

4
−8
−14




�
��
 �2#!%!�,�4�! 9��! ! ���$���� �(  "$$0 ��"2 -��-�� ���� �� L1+L2 � R5


L1 = Lin{a1 =




1
2

−1
2
1


 , a2 =




−3
−5

0
2
1


}, L2 = Lin{b1 =




2
5

−4
1
1


 , b2 =




0
2

−5
5
3


}.

3�	������
��� 
	��	
� � 
��	
�	&������� ��'	��� 40 � 41�
�
 J-����*��!� ������� ���
����	��  ! ��$0 ��%����� � *!��4��$ -�� ���� ��� c

��� -�*�$ d

�
 J-����*��!� ������� �
����	��  ! ��$0 ��%����� � *!��4��$ -�� ���� ��� c

��� -�*�$ d

�
 J-����*��!� �
���
 � *!��4��$ -�� ���� ��� c ��� -�*�$ d

>
 J-����*��!� �
�	�����
� ��������� ����
�
��
�
 c ��� -�*�$ d

�
 J-����*��!� ������  ! ��$0 ��%����� � *!��4��$ -�� ���� ��� c ��� -�*�$ d

�
 J-����*��!� ���
�
������ ���	��

 *!��4��&� -�� ���� ��� c ��� -�*�$ d ��%�

 !�$� ��

	
 J-����*��!� ���
������������ ���	��

 � *!��4��$ -�� ���� ��� c ��� -�*�$

d ��% !�$� >�


�




�� �������

>
�
 ,�4�! ���& $���!)0
 �%����( 9��! �0�  ���%! !  ��*9)0


A =




1 −2 −1 8 1 −4
−1 3 3 −13 −3 9
−1 0 −2 1 2 −4

2 −2 −1 9 1 −4
−3 −3 −1 7 1 −5


 .

>
�
 �$���!�( $���!)" A �� ��%��� x : y = Ax 


�O� A =


 −2 0 −3 −1

−1 0 1 −2
1 0 2 1


 , x =




2
−1

0
1


 .

�Q� A =




1 −2 0
−1 3 0
−1 −2 0

0 1 0


 , x =


 1

2
3


 .

>
�
 +0-�*�!�( ��4 ��!� ��� $���!)�$! αA3 A + B3 AC3 CA


A =




1 2 3
0 0 2

−3 1 0
0 1 1


 , B =




0 0 1
0 1 1
0 0 1
2 1 −3


 , C =


 1 0 −1 2

−2 0 3 −1
0 0 2 1


 .

>
>
 ,�4�! ��-� ��� ������ ����� �0�����!� -���$���02 {z1, z2, . . .} #���� -���$���
�0� {x1, x2, . . .}. ������!�(3 #�� $���!)� C ���"*(�!�"56�&� ���9�����!� z =
Cx ����� C = AB3 � *! z = Ay3 y = Bx

 z1 = y1− y2

z2 = −2y1+ y2

z3 = y1+ y2

,

[
y1 = −x1+ 2x2− x3+ x4

y2 = x1 + 2x3− x4
.

.	��/��� ������� 5�

>
�
 �2#!�!� ,�4�! ���& $���!)0
 �%����( 9��! �0�  ���%! !  ��*9)0


�O� A =




1 −1 3 −2 0 1
2 −2 6 −4 0 2
2 −1 5 −4 −3 4
3 −2 8 −6 −3 5


K

��



�Q� A =




1 −2 3 −1 0 1
2 −4 6 −2 0 2
2 −4 5 −1 −3 4
3 −6 8 −2 −3 5





>
�
 �2'! !� �$���!�( $���!)" A �� ��%��� x : y = Ax 


�O� A =


 −1 −2 3 1

0 0 0 0
1 −1 2 1


 , x =




1
−2

0
−1


 .

�Q� A =




2 −2 0
1 3 0

−1 2 0
0 1 0


 , x =


 −2

1
3


 .

>
	
 �2'!%!� +0-�*�!�( ��4 ��!� ��� $���!)�$! αA3 A + B3 AC3 CA


A =




1 −2
2 0
0 3
1 4
3 2


 , B =




−1 3
1 2

−2 0
4 0
1 4


 , C =

[
1 0 3

−1 2 −1

]
.

>


 �2'!�!� ,�4�! ��-� ��� ������ ����� �0�����!� -���$���02 {z1, z2, . . .} #����
-���$���0� {x1, x2, . . .}. ������!�(3 #�� $���!)� C ���"*(�!�"56�&� ���9�����
�!� z = Cx ����� C = AB3 � *! z = Ay3 y = Bx

 z1 = y1− 3y2

z2 = −2y1+ y2

z3 = y1+ 2y2

,

[
y1 = −x1+ 2x2− x3+ x4

y2 = 4x1 + x3− 3x4
.

��



��  ������������

�
�
 J-����*!�( #! *� !���� !4 � -��� �����%�

(
1 2 3 4 5
2 1 5 4 3

)
.

�
�
 ����9����( j ! k ��%3 #��90 -��� �����%�

(
1 2 3 4 5 6 7 8 9
1 2 7 4 j 5 6 k 9

)
90*� #���

��4


�
�
 +0� �!�(3 %�%!� !� -�!�����02 -��!������!4 �2���� � �-����*!��*(  �������
 ��"56�&� -����%� !  %�%!$ ���%�$�

�O� a43a21a35a12a54

�Q� a13a24a23a41a55

�R� a61a23a45a36a12a54

�
>
 ,�4�! �-����*!��*( $���!)03 �� %�0��� -� E*�$����$  ���%! � ��*9)��


(a)




1 0 0 0 0
3 2 0 0 0
5 4 3 0 0
7 6 5 4 0
9 8 7 6 5


 , (b)




0 0 0 2 0
5 0 3 7 0
9 2 1 9 0
8 0 7 14 4
0 0 2 1 0


 , (c)




1 −1 2 3
−2 1 0 1

2 0 −1 3
−3 1 2 1


 .

�
�
 ,�4�! �-����*!��*( $���!)03 -�!$���� $���� a�"  �


(a)


 1 −1 3

−1 1 −4
2 −3 1


 , (b)


 2 1 1

4 −2 2
3 −5 0


 , (c)




1 −1 2 3
−2 1 0 1

2 0 −1 3
−3 1 2 1


 .

�
�
 ��%����(3 #��  ! ��$� ��%����� {a1, a2, . . .} �9���"�� 9��! ! ��4�! ���*����!�
��%���� b -� E��$" 9��! "
 �:�
 ��$� �3 ����#� ��

a1 =




1
3
2
1


 , a2 =




1
−1

3
2


 , a3 =




2
−1
−1

3


 , a4 =




3
−2
−1
−1


 , b =




1
−4
−6
−4




�
	
 ,�4�! ���& $���!)0 ! "%����( 9��! �04 $!���
 �:�
 ��$� �3 ����#� >�

�O�




1 −1 1 0 1
3 −1 1 2 1
2 −3 3 −1 3
2 −2 2 0 2


 ; �Q�




1 −2 −1 8 1 −4
−1 3 3 −13 −3 9
−1 0 −2 1 2 −4

2 −2 −1 9 1 −4
−3 −3 −1 7 1 −5


 .

��



.	��/��� ������� 6�

�


 J-����*!�( #! *� !���� !4 � -��� �����%�

(
1 2 3 4 5 6
6 3 2 5 1 4

)
.

�
�
 ����9����( j ! k ��%3 #��90 -��� �����%�

(
1 2 3 4 5 6 7 8 9
1 j 2 5 k 4 8 9 7

)
90*� ��#���

��4


�
��
 +0� �!�(3 %�%!� !� -�!�����02 -��!������!4 �2���� � �-����*!��*(  �������
 ��"56�&� -����%� !  %�%!$ ���%�$�

�O� a32a43a14a51a66a25

�Q� a27a36a51a75a25a43a62

�R� a33a16a72a27a55a61a44

�
��
 �2"! !� ,�4�! �-����*!��*( $���!)03 �� %�0��� -� E*�$����$  ���%! � ��*9)��


(a)




λ1 0 0 0 0
0 λ2 0 0 0
0 0 λ3 0 0
0 0 0 λ4 0
0 0 0 0 λ5


 , (b)




5 7 0 0 6
2 9 3 8 5
0 0 0 0 2
8 5 0 4 7
0 1 0 0 8


 , (c)




−1 2 1 −3
4 1 0 −1
2 0 1 2
3 2 1 −1


 .

�
��
 �2"!#!�,�4�! �-����*!��*( $���!)03 -�!$���� $���� a�"  �


(a)




1 −2 2 −1
1 −4 4 −3
0 −2 5 4
1 2 −8 −13


 , (b)




1 0 −2 −2 −2
2 2 −4 0 −2
0 −4 3 −2 −1
0 −2 −6 −14 −12
1 −2 −2 −8 1


 , (c)


 −1 −1 0

−2 1 6
0 3 6


 .

�
��
 �2"!%!� ��%����(3 #��  ! ��$� ��%����� {a1, a2, . . .} �9���"�� 9��! ! ��4�! ����
*����!� ��%���� b -� E��$" 9��! "


a1 =




−1
−1

0
−1


 , a2 =




0
−1

2
−2


 , a3 =




0
0

−1
0


 , a4 =




−2
−2

0
−3


 , b =




1
0
0
0


 .

�
�>
 �2"!�!� ,�4�! ���& $���!)0 ! "%����( 9��! �04 $!���


�O�




1 4 3 −3 2
2 10 7 −6 5
2 0 2 −6 0
1 2 2 −3 1


 . �Q�




1 −2 3 −1 0 1
2 −4 6 −2 0 2
2 −4 5 −1 −3 4
3 −6 8 −2 −3 5


 .

��



�� ��
���� �������! ���
����� "���	� #��

�$

�
�
 ,�4�!
� �96�� ��7��!� ���������4  ! ��$0 *!��4�02 "������!4  n ��!��� ��0$!K
� ���& $���!)0  ! ��$0 �rang A�K
� 9��! ! ���$���� �( -��-�� ���� ��� ��7��!4 L0K
� -�����!�(  -�����*!�� �( ����� ��� rang A + dimL0 = n


�O�




x1+ 2x2+ 3x3+ 4x4 = 0
x1+ x2+ 2x3+ 3x4 = 0
x1+ 5x2+ x3+ 2x4 = 0
x1+ 5x2+ 5x3+ 2x4 = 0

�Q�




−x1+ x2− 3x3− 4x4+ 4x5 = 0
−3x1− 2x2− x3+ 3x4+ 2x5 = 0

x1+ x2− x3− 2x4 = 0
−x1+ 2x2− 5x3− 5x4+ 6x5 = 0

x2− 2x2− x4+ 2x5 = 0

�
�
 ,�4�!
� �96�� ��7��!� �����������4  ! ��$0 m *!��4�02 "������!4  n ��!��� ��0$!K
� ���&! $���!)0 rang A ! �� 7!�����4 $���!)0 rang A  ! ��$0K
� 9��! ! ���$���� �( -��-�� ���� ��� ��7��!4 L0  ������ ��"56�4 ���������4
 ! ��$0K
� �96�� ��7��!�  ������ ��"56�4 ���������4  ! ��$0 *!��4�02 "������!4K
� #� ���� ��7��!� �����4 �����������4  ! ��$0 *!��4�02 "������!4


�O�




5x1− 3x2+ 3x3+ 4x4 = 3
4x1− 2x2+ 3x3+ 7x4 = 1
8x1− 6x2− x3− 5x4 = 9
7x1− 3x2+ 7x3+ 17x4 = −1

�Q�




x1− 2x2+ 4x3− 6x4+ 3x5 = −3
−x1+ 3x2− 7x3+ 8x4− 5x5 = 6
−x1+ 2x2− 4x3+ 6x4− 3x5 = 3
−x1− 2x2+ 8x3− 2x4+ 5x5 = −9

�R�




x1+ x2+ x3+ x4+ x5 = 1
x1+ 2x2+ x3+ x4+ x5 = 0
x1+ x2+ 3x3+ x4+ x5 = 3
x1+ x2+ x3+ 4x4+ x5 = −2
x1+ x2+ x3+ x4+ 5x5 = 5

��



�
�
 ,�4�! ��7��!�  ! ��$  ��$� ��!��� ��0$! ! ���( &��$���!#� %"5 !����-�����
)!5


(a)

{
2x+ y = 4
x− y = 8

, (b)

{
2x+ y = 4
2x+ y = 5

, (c)

{
2x+ y = 4

−2x− y = −4
.

�
>
 ,�4�! ��7��!�  ! ��$  ��$� ��!��� ��0$! ! ���( &��$���!#� %"5 !����-�����
)!5


(a)


 x− 2y+ z = 1

2x− 3y+ 4z = 5
−2x+ y− 7z = −10

, (b)


 x− 2y+ z = 1

2x− 3y+ 4z = 5
x− y+ 3z = 4

,

(c)


 x− 2y+ z = 1

2x− 4y+ 2z = 2
−3x+ 6y− 3z = −3

, (d)


 x− 2y+ z = 1

2x− 3y+ 4z = 5
x− y+ 3z = 0

,

(e)


 x− 2y+ z = 1

2x− 4y+ 2z = 0
−3x+ 6y− 3z = −1

.

.	��/��� ������� 7�

�
�
 �2%!%!� ,�4�!
� �96�� ��7��!� ���������4  ! ��$0 *!��4�02 "������!4  n ��!��� ��0$!K
� ���& $���!)0  ! ��$0 �rang A�K
� 9��! ! ���$���� �( -��-�� ���� ��� ��7��!4 L0K
� -�����!�(  -�����*!�� �( ����� ��� rang A + dimL0 = n


�O�




x1− 3x2+ 4x3+ 5x4 = 0
2x1− 5x2+ 7x3+ 8x4 = 0
x1− x2+ 2x3+ x4 = 0

�Q�




x1− 2x2+ 3x3+ 2x4+ 6x5 = 0
2x1− 3x2+ 6x3+ 4x4+ 10x5 = 0
x1− x2+ 3x3+ 2x4+ 4x5 = 0

�R�




2x1− x2− 2x3+ 2x4− 3x5 = 0
x1− 2x2− 4x3+ 4x4− 3x5 = 0

−3x1− 3x2− 6x3+ 6x4 = 0
x1− x2− 2x3+ 2x4− 2x5 = 0

�
�
 �2%!�!� ,�4�!
� �96�� ��7��!� �����������4  ! ��$0 m *!��4�02 "������!4  n ��!��� ��0$!K
� ���&! $���!)0 rang A ! �� 7!�����4 $���!)0 rang A  ! ��$0K
� 9��! ! ���$���� �( -��-�� ���� ��� ��7��!4 L0  ������ ��"56�4 ���������4
 ! ��$0K

��



� �96�� ��7��!�  ������ ��"56�4 ���������4  ! ��$0 *!��4�02 "������!4K
� #� ���� ��7��!� �����4 �����������4  ! ��$0 *!��4�02 "������!4


�O�




x1− x2+ 4x3− 4x4 = 2
2x1− x2+ 6x3− 7x4 = 4
−x1− 2x2+ 2x3+ x4 = −2

�Q�




−2x1+ 3x2+ 7x3+ 3x4− 13x5 = −1
x1+ 2x2 + 9x4− 4x5 = −3

−x1− x2+ x3− 6x4+ x5 = 2
3x1+ 2x2− 4x3+ 15x4 = −5

�R�




x1− 3x2+ 3x3+ 8x4 = 7
x1− 2x2+ 6x3+ 9x4 = 1

−x1+ 2x2− 5x3− 8x4 = −2
2x1+ 2x2+ x3− 5x4 = −5

�
	
 �2%! !� ,�4�! ��7��!�  ! ��$  ��$� ��!��� ��0$! ! ���( &��$���!#� %"5 !��
���-����)!5


(a)

[
x− 3y = −2

2x− 5y = −3
, (b)

[
x− 3y = −2

−2x+ 6y = 4
, (c)

[
x− 3y = −2

−2x+ 6y = 2
.

�


 �2%!#!� ,�4�! ��7��!�  ! ��$  ��$� ��!��� ��0$! ! ���( &��$���!#� %"5 !��
���-����)!5


(a)


 x+ 3y− z = 4

−2x− 5y = −11
2x+ 8y− 5z = 4

, (b)


 x+ 3y− z = 4

−2x− 5y = −11
x+ 2y+ z = 7

,

(c)


 x+ 3y− z = 4

−x− 3y+ z = −4
2x+ 6y− 2z = 8

, (d)


 x+ 3y− z = 4

−2x− 5y = −11
x+ 2y+ z = 0

,

(e)


 x+ 3y− z = 4

−x− 3y+ z = 0
2x+ 6y− 2z = 1

.

��



�� ����	%���& 
�
��� �������! ���
�����

	
�
 W�*��� � *!  ! ��$� ��%����� *!��4�� ���! !$�4 � R4G b *! ��3 �� ��4�! E�"
���! !$� �(
 �e$
 �
��


a1 =




1
2

−3
−1


 , a2 =




1
1

−2
−1


 , a3 =




0
1

−1
0


 , a4 =




3
4

−7
−3


 .

	
�
 +0� �!�(3 -�!���*��!� *! ��%��� b *!��4��4 �9�*�#%� Lin{a1, a2, . . .}
 ,�4�!
� � ���*����!� ��%���� b -�  ! ��$� {a1, a2, . . .}


a1 =




1
2
1
1
2


 , a2 =




2
5

−1
2
1


 , a3 =




6
14
0
6
6


 , a4 =




−7
−17

2
−7
−5


 , a5 =




9
21
0
9
9


 , b =




−3
−7

0
−3
−3


 .

	
�
 ��%����(3 #��  ! ��$� ��%����� ∆ �9���"�� 9��! � R5 ! ��4�! ���*����!� ��%�
���� b -� E��$" 9��! "


∆ = {




1
0
0

−2
−1


 ,




−1
−1

0
3
2


 ,




−2
−1
−1

6
3


 ,




1
−2

1
0

−1


 ,




1
2
1

−3
−6


}, b =




0
−1

1
3

−4


 .

	
>
 ,�4�! 9��! ! ���$���� �( -��� �#��!� ��"2 -��-�� ���� �� L1
⋂

L2 � R5
 ����
���!�(  -�����*!�� �( 1��$"*0 a��  $���
 �e$
 �
��


L1 = L{a1 =




1
0
0

−2
−1


 , a2 =




−1
−1

0
3
2


}, L2 = L{b1 =




0
−1

0
1
1


 , b2 =




−2
−1
−1

6
3


}.

.	��/��� ������� 8�

	
�
 �2�! !� W�*��� � *!  ! ��$� ��%����� *!��4�� ���! !$�4 � R4G b *! ��3 �� ��4�
�! E�" ���! !$� �(


a1 =




1
3
3

−1


 , a2 =




1
2
2
2


 , a3 =




0
1
1

−3


 , a4 =




1
5
5

−7





	



	
�
 �2�!#!� +0� �!�(3 -�!���*��!� *! ��%��� b *!��4��4 �9�*�#%� ��%����� L{a1, a2, . . .}
,�4�! � � ���*����!� ��%���� b -�  ! ��$� {a1, a2, . . .}


a1 =




1
−2
−3

1


 , a2 =




2
−3

1
1


 , a3 =




−5
7

−6
−2


 , a4 =




−3
5
2

−2


 , b =




5
−9
−8

4




	
	
 �2�!%!���%����(3 #��  ! ��$� ��%����� {a1, a2, . . .} �9���"�� 9��! ! ��4�! ����
*����!� ��%���� b -� E��$" 9��! "


a1 =




1
−2

0
2


 , a2 =




0
1
0

−1


 , a3 =




1
−2

1
0


 , a4 =




−2
5
0

−4


 , b =




0
2
1

−3




	


 �2�!�!� ,�4�! 9��! ! ���$���� �( -��� �#��!� ��"2 -��-�� ���� �� L1
⋂

L2 �
R5
 ������!�(  -�����*!�� �( 1��$"*0 a��  $���


L1 = Lin{a1 =




1
2

−1
2
1


 , a2 =




−3
−5

0
2
1


}, L2 = Lin{b1 =




2
5

−4
1
1


 , b2 =




0
2

−5
5
3


}


�



�� ��� �



�
 �f!$���� $���� a�"  �3 ��4�!

�O� 9��! ! f��$�f�� �( *!��4��4 �9�*�#%!  ��*9)�� Lin{q1, q2, . . .} !  ���%
Lin{p1, p2, . . .} $��f!)0 AK

�Q� rang A3 9��! �0�  �f�%! !  ��*9)0


A =




1 1 2 −1 −2 4
1 2 4 −2 −6 5

−3 −2 −3 1 0 −9
−3 −3 −3 0 0 −6

2 −3 2 −5 0 19






�
 �f!$���� $���� a�"  �3 ��4�!

�O� �96�� f�7��!� x&�  ! ��$0 *!��4�02 ������f���02 "f�����!4 Ax = bK

�Q� f��&! $��f!)0  ! ��$0 A ! f� 7!f����4 $��f!)0  ! ��$0 A = [A | b]K
�R� �96�� f�7��!� xoo R������ ��"56�4 ����f����4  ! ��$0 Ax = 03 9��! !

f��$�f�� �( -��-f� �f�� ��� �� f�7��!4 L0 K

�S� #� ���� f�7��!� x�� �����4 ������f����4  ! ��$0K

�T� -f���f!�( ��-� f�� ������  -f����*!�� �( f���� ��

Axoo = 0, Ax�� = b


 


1x1+ 1x2− 2x3+ 0x4+ 0x5 = −1
2x1+ 3x2− 5x3+ 0x4+ 1x5 = −4
1x1+ 2x2− 3x3+ 0x4+ 1x5 = −3

−3x1+ 1x2+ 2x3+ 0x4+ 4x5 = −5



�
 �f!$���� $���� a�"  �3 ��4�! det A�

A =




−1 1 2 −1 −1
1 0 −3 1 −1
0 2 −1 1 −6
0 1 1 3 −4
1 0 −2 0 −6


 .
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�
 +0"#!�T ��-�� 0 A��-" %�A�

�O� ��4�� �-����*��!� ������
 ���
�����
� ������� ��%����� � *!��4��$ -���
 ���� ��� L ��� -�*�$ K


�Q� ��4�� �-����*��!� ������
 �
�����
� ������� ��%����� � *!��4��$ -���
 ���� ��� L ��� -�*�$ K


�R� ��4�� �-����*��!� �	
���
�
�
��
�
 �������
 % E*�$���" x � *!��4��$
-�� ���� ��� L ��� -�*�$ K


�S� ��4�� �-����*��!� �
���
 � *!��4��$ -�� ���� ��� L ��� -�*�$ K


�T� ��4�� �-����*��!� 	
���	�
��� *!��4��&� -�� ���� ��� L ��� -�*�$ K


�V� ��4�� �-����*��!� ����	
�'�
�
 �������
 � *!��4��$ -�� ���� ��� L ���
-�*�$ K


�X� ��4�� �-����*��!� �
��
� ������� ����
	
� � *!��4��$ -�� ���� ��� L
��� -�*�$ K


�Y� ��4�� �-����*��!� 	
��
 �
�	���


�Z� :1��$"*!�"4�� ��
	��$ 
 	
��
����� 
�	��������" �
 i�� ��	
��


�[� :1��$"*!�"4�� ��
	��$ 
 	
��
����� 
�	��������" �
 j��$ ��
���$


�\� :1��$"*!�"4�� ��
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�� �������� 	�����	�� � �! ������� 
 ����	� '���
��

(��	 � 	'��� 	�����	��� )'������ 	�����	�

�
�
 ������!�( *!��4�� �( �-������� A
 ,�4�! �&� $���!)" A = A{e,f} � 9��! �2 {e, f}

�O� A : V3 → V3 ⇒ A�x = [�x,�a], {e} = {f} = {�i,�j,�k}.
�Q� D : Pn → Pn−1 ⇒ (DP )(t) = d

dtP (t), {e} = {f} = {1, t, t2, · · · }.

�R� A : R4 → R3 ⇒ Ax =


 3x1+ 4x2− x3+ 2x4

2x1 + 5x3

x2 − x4


 ,

{e}, {f} − %����!#� %!� 9��! 0 � R4 ! R3 .

�
�
 ,�4�! 9��! ! ���$���� �( �9���� Ran A ! ���� Ker A �-������� A3 ��������

$�&� $���!)�4 A =




1 −1 −2 4 −4 0
2 −1 −3 6 −5 0

−3 3 5 −14 9 −4
2 −3 −4 12 −8 4


 .

�
�
 ,�4�! �9����"5 $���!)" A−1 = 1
detAÃT � A =


 1 1 −1

−1 1 −3
0 2 −1


 .

�
>
 ,�4�! �9����"5 $���!)" A−1 -� $����" a�"  �� A =




0 −1 −1 1
1 9 4 −2
1 −1 −1 1
0 −4 −2 1


 .

�
�
 +0���!�( ���� -���$���0� {x1, x2, . . .} #���� -���$���0� {y1, y2, . . .} ! �0� �!�(
 ���( $���" $��f!)�$! *!��4�02 -f��9f������!4 y = Ax ! x = By



y1 = −x1+ x2 + 2x4

y2 = 2x1− x2 − 6x4

y3 = −3x1+ 4x2− x3+ 3x4

y4 = 2x1− 5x2+ x3+ 2x4

.

�
�
 /�7!�( $���!#�0� "������!� AX = C3 Y B = C3 AZB = C
[
1 2
3 4

]
X =

[
3 0 −1
2 1 0

]
; Y

[
1 2
3 4

]
=


 1 −2

3 0
0 1


 ;

[
3 −1
5 −2

]
Z

[
1 2
0 1

]
=

[
0 1
1 0

]
.


�
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 �2'!#!� ������!�( *!��4�� �( �-������� A
 ,�4�! �&� $���!)" A � 9��! �2 {e, f}

C : V3 → V3 ⇒ C�x = [[�x,�a],�b], {e} = {f} = {�i,�j,�k}.

J : Pn → Pn−1 ⇒ (JP )(t) =
t∫

0
P (τ)dτ, {e} = {f} = {1, t, t2, · · · }.

D : Pλ
n → Pλ

n ⇒ (DP λ)(t) = d
dtP

λ(t), {e} = {f} = {eλt1, eλt t
1! , e

λt t2

2! , · · · }.
*�0������! Pλ

n � -f� �f�� ��� %���!-�*!��$�� P λ(t) = eλt(a0 + a1t+ a2t
2 + . . .)3

&�� λ � ��%���f�� 1!% !f������� ��6� ������� #! *�


�


 �2(! !� ,�4�! 9��! ! ���$���� �( �9���� Ran A ! ���� Ker A �-������� A3

�������$�&� $���!)�4 A =




1 −2 3 2 6 1
1 −1 3 2 4 0
2 −3 6 4 10 1

−3 −3 −9 −6 0 6


 .

�
�
 �2(!�!� ,�4�! �9����"5 $���!)" A−1 = 1
detAÃT � A =


 −2 2 0

4 −5 1
0 −1 5


 .

�
��
 �2(!"!� ,�4�! �9����"5 $���!)" A−1 -� $����" a�"  �� A =




−1 −1 0 1 0
−2 −3 1 1 1

0 0 1 0 1
1 1 2 0 2

−2 −4 0 2 1


 .

�
��
 �2(!'!� +0���!�( ���� -���$���0� {x1, x2, . . .} #���� -���$���0� {y1, y2, . . .} !
�0� �!�(  ���( $���" $��f!)�$! *!��4�02 -f��9f������!4 y = Ax ! x = By



y1 = x1− x2+ 2x3+ x4

y2 = 2x1− x2+ 2x3+ 4x4

y3 = x1− x2+ 3x3

y4 = −x1+ x2 − 2x4

.

�
��
 �2(!(!� /�7!�( $���!#�0� "������!� AX = C3 Y B = C3 AZB = C
[
4 3
2 1

]
X =

[
3 0 0
2 1 0

]
; X

[
4 3
2 1

]
=


 1 −2

3 0
0 0


 ;


 1 0 0

2 1 0
3 2 1


 X


 1 2 3

0 1 2
0 0 1


 =


 1 0 0

0 1 0
0 0 1


 .


�
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��
�
 �� ���!�( $���!)" -���2��� T ��  ����&� 9��! � {e} % ����$" {f} � -�� ���� ���
P3 ! $���!)" -���2��� S �� ����&� 9��! � %  ����$"
 ������!�(3 #�� S = T−1 


{e} = {1, t, t2, t3}; {f} = {1, (t − t0), (t − t0)
2, (t − t0)

3}
��
�
 ,�4�! ��-� ��� ������ %����!���0 x3 x̃ ��%���� P (t) �  ����$ ! ����$ 9��! �2

� $
 ����#" ��
��
 ������!�(  -�����*!�� �( 1��$"* x = T x̃3 x̃ = T−1x


��
�
 ,�4�! ��-� ��� ������ $���!)0 D3 D̃ �-������� �!11����)!�����!� D = d
dt �

 ����$ ! ����$ 9��! �2 � $
 ����#" ��
��
 ������!�(  -�����*!�� �( 1��$"*0
D = TD̃T−1


��
>
 ��%����(3 #��  ! ��$� ��%����� {f1, . . . , f4} ∈ R4 �9���"�� 9��! 
 ,�4�! $���!)"
-���2��� T ��  ����&� �%����!#� %�&�� 9��! � {e} % ����$" {f}
 ��%����(3 #��
$���!)� -���2��� S �� ����&� 9��! � {f} %  ����$" {e} ����� S = T−1


f1 =




−1
−2

2
3


 , f2 =




−3
−7

6
10


 , f3 =




1
3

−3
−3


 , f4 =




1
1

−1
−2




.	��/��� ������� 0;�

��
�
 �2$! !� �� ���!�( $���!)" -���2��� T ��  ����&� 9��! � {e} % ����$" {f} �
-�� ���� ��� P3 ! $���!)" -���2��� S �� ����&� 9��! � %  ����$"
 ������!�(3
#�� S = T−1� {e} = {1, t, t2, t3}; {f} = {1, t

1! ,
t2

2! ,
t3

3!}
��
�
 �2$!#!� ,�4�! ��-� ��� ������ %����!���0 x3 x̃ ��%���� P (t) �  ����$ ! ����$

9��! �2 � $
 ����#" ��
��
 ������!�(  -�����*!�� �( 1��$"* x = T x̃3 x̃ = T−1x


��
	
 �2$!%!� ,�4�! ��-� ��� ������ $���!)0 D3 D̃ �-������� �!11����)!�����!�
D = d

dt �  ����$ ! ����$ 9��! �2 � $
 ����#" ��
��
 ������!�(  -�����*!�� �(

1��$"*0 D = TD̃T−1


��


 �2$!�!� ��%����(3 #��  ! ��$� ��%����� {f1, . . . , f4} ∈ R4 �9���"�� 9��! 
 ,�4�!
$���!)" -���2��� T ��  ����&� �%����!#� %�&�� 9��! � {e} % ����$" {f}
 ��%��
���(3 #�� $���!)� -���2��� S �� ����&� 9��! � {f} %  ����$" {e} ����� S = T−1


f1 =




−1
2
2
1


 , f2 =




1
−3
−4
−1


 , f3 =




0
2
3
0


 , f4 =




0
1
4

−1





�
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��
�
 ,�4�!  �9 �����0� ��%���0 x1, x2, . . . !  �9 �����0� ���#��!� λ1, λ2, . . . �-������
��3 �������&� $���!)�4 A
 ������!�( ��-� ��� ������  -�����*!�� �( ����� ���
Ax = λx
 ������!�(3 #�� ��%���03 ����#�56!� ���*!#�0$  �9 �����0$ ���#��
�!�$3 *!��4�� �����! !$0


�O� A =


 3 6 −4

−1 −3 2
−1 −5 3




�Q� A =


 2 3 −2

1 4 −2
2 6 −3




�R� A =


 0 −5 2

−1 −2 1
−2 −6 3




�S� A =


 1 8 −4

0 1 0
0 4 −1




.	��/��� ������� 00�

��
�
 �2&!#!� ,�4�!  �9 �����0� ��%���0 x1, x2, . . . !  �9 �����0� ���#��!� λ1, λ2, . . .
�-�������3 �������&� $���!)�4 A
 ������!�( ��-� ��� ������  -�����*!�� �(
����� ��� Ax = λx
 ������!�(3 #�� ��%���03 ����#�56!� ���*!#�0$  �9 �����
�0$ ���#��!�$3 *!��4�� �����! !$0


�O� A =


 −1 1 0

−1 −2 1
−1 0 0




�Q� A =


 3 1 0

−1 1 0
2 2 2




�R� A =


 1 3 −2

0 2 −1
0 2 −1




�S� A =


 4 7 −3

−3 −6 3
−3 −7 4





�



�
� ��	���	�� � 
���������	� ����	%���� ���+	����*

����	+	 	�����	��

��
�
 ������!�(3 #�� �-������ P, �������$04 � Rn $���!)�4 P, ��*��� � �-�������$
-���%�!�����!� �� ��%������ -��-�� ���� ��� F -���*�*(�� ��%�����$" -���
-�� ���� ��" G ! -� ���!�( -���%��� Q, �� -��-�� ���� ��� G -���**�*(��
-��-�� ���� ��" F :

P · P ≡ P 2 = P =⇒ Q = I − P =⇒ Q · Q ≡ Q2 = Q =⇒ P · Q = Q · P = θ.

������!�(3 #��

�O� F = Ran P, G = Ker P ⇐⇒ G = Ran Q, F = Ker Q,
��4�� -������!��*(�� -��-�� ���� ��O F ! G;

�Q�  -�����*!�� �( ���*����!� -�� ���� ��� � -��$"5  "$$" Rn = F ⊕ G;

�R� ∀h ∈ Rn =⇒ h = f + g, f ∈ F, g ∈ G =⇒ Ph = f, Qh = g :

P =


 4 1 −1

−6 −1 2
6 2 −1


 .

��
�
 �*� �!�&���*!�"�$�&� �-������� A, �������$�&� $���!)�4 A, ��4�!

�O�  �9 �����0� ��%��f0 {tk} !  �9 �����0� ���#��!� {λk} �-�f���f� AK

�Q� -f���f!�( ��-� f�� ������  -f����*!�� �( f���� �� 3tk = λktk;

�R� $��f!)" -�f�2��� T % 9��! " !�  �9 �����02 ��%����� ! $��f!)" Λ �-�f���f�
� ��$K

�S� -f���f!�( ��-� f�� ������  -f����*!�� �( f���� ��� A = TΛT−1;

�T� ��4�! A%� 0�A -���%���0 Pk ��  �9 �����0� -��-�� ���� ��� -���**�*(��
 "$$� ��"&!2 ! -�����!�(3 #�� 4i · Pj = δijPj;

�V� -�����!�( ��-� ��� ������ A%� ��A ���*����!� ��!�!)0 I =
∑
k

Pk !  -�%�

���*(��� ���*����!� �!�&���*!�"�$�&� �-������� A : A =
∑
k

λkPk.

�X� �0#! *!�( ���#��!� 2���%���! �!#� %�&� -�*!��$� pA(3) ��-� ��� ������ !
! -�*(�"�  -�%���*(��� ���*����!��

A =


 −1 −1 1

6 4 −2
−6 −2 4


 .


�
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��
�
 �2 )! !� ������!�(3 #�� �-������ P, �������$04 � Rn $���!)�4 P, ��*��� � �-��
������$ -���%�!�����!� �� ��%������ -��-�� ���� ��� F -���*�*(�� ��%�����$"
-��-�� ���� ��" G ! -� ���!�( -���%��� Q, �� -��-�� ���� ��� G -���**�*(��
-��-�� ���� ��" F :

P · P ≡ P 2 = P =⇒ Q = I − P =⇒ Q · Q ≡ Q2 = Q =⇒ P · Q = Q · P = θ.

������!�(3 #��

�O� F = Ran P, G = Ker P ⇐⇒ G = Ran Q, F = Ker Q,
��4�� -������!��*(�� -��-�� ���� ��O F ! G;

�Q�  -�����*!�� �( ���*����!� -�� ���� ��� � -��$"5  "$$" Rn = F ⊕ G;

�R� ∀h ∈ Rn =⇒ h = f + g, f ∈ F, g ∈ G =⇒ Ph = f, Qh = g :

P =


 4 7 −3

−3 −6 3
−3 −7 4


 .

��
>
 �2 )!#!� �*� �!�&���*!�"�$�&� �-������� A, �������$�&� $���!)�4 A, ��4�!

�O�  �9 �����0� ��%��f0 {tk} !  �9 �����0� ���#��!� {λk} �-�f���f� AK

�Q� -f���f!�( ��-� f�� ������  -f����*!�� �( f���� �� 3tk = λktk;

�R� $��f!)" -�f�2��� T % 9��! " !�  �9 �����02 ��%����� ! $��f!)" Λ �-�f���f�
� ��$K

�S� -f���f!�( ��-� f�� ������  -f����*!�� �( f���� ��� A = TΛT−1;

�T� ��4�! A%� 0�A -���%���0 Pk ��  �9 �����0� -��-�� ���� ��� -���**�*(��
 "$$� ��"&!2 ! -�����!�(3 #�� 4i · Pj = δijPj;

�V� -�����!�( ��-� ��� ������ A%� ��A ���*����!� ��!�!)0 I =
∑
k

Pk !  -�%�

���*(��� ���*����!� �!�&���*!�"�$�&� �-������� A : A =
∑
k

λkPk.

�X� �0#! *!�( ���#��!� 2���%���! �!#� %�&� -�*!��$� pA(3) ��-� ��� ������ !
! -�*(�"�  -�%���*(��� ���*����!��

A =


 −1 −7 3

3 9 −3
3 7 −1


 .


�
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��
�
 ?���� *! -�!���( � �����$ -�� ���� ��� E � %�#� ���  %�*����&� -��!������!�
1"�%)!5�

E = Rn =⇒ 567 (x, y) =
n∑

k=1
xkyk; 587 (x, y) =

m∑
k=2

xkyk, m < n.

E = Pn =⇒ 567 (p, q) =
n∑

k=1
p(xk)q(yk); 587 (p, q) =

n−1∑
k=2

p(xk)q(yk).

E = Pn[a, b] =⇒ 567 (p, q) =
b∫
a

ρ(t)p(t)q(t)dt,

(ρ(t) > 0, ρ(t) − ��-���0��� �� [a, b]).

��
�
 @�-! ��( ������� ��� ���"&�*(�!%� ! ������� ��� ��7!��"��%�� %�&� �*�  %��
*���02 -��!������!4 !� ����#! ��
�


��
�
 J���&���*!�����( 9��! {f} � Rn  �  %�*���0$ -��!������!�$ (x, y) =
n∑

k=1
xkyk.

�O� f1 =


 1

1
0


 , f2 =


 −√

2
0
1


 , f3 =


 1

0
0




�Q� f1 =




2
0
0
0


 , f2 =




2
3
0
0


 , f3 =




4
2

−4
0


 , f4 =




1
2
1

−2




��
>
 J���&���*!�����( 9��! {1, t, t2} � P2[−1, 1]  �  %�*���0$ -��!������!�$

(p, q) =

1∫
−1

p(t)q(t)dt.

��
�
 -f� �f�� ��� �f!&���$��f!#� %!2 -�*!��$�� (ak, bk ∈ C, x ∈ [−π, π])

T2n+1 = {T (x) = an cos nx + . . . + a1 cos x + a0 + b1 sin x + . . . + bn sin nx}

 �  %�*�f�0$ -f�!������!�$ (T, S) =
π∫

−π

T (x)S(x)dx f�  $��f!���� �  ! ��$�

1"�%)!4 { cos nt, . . . , cos t, 1, sin t, . . . , sin nt}.
�f���f!�(3 #�� "%�������  ! ��$� 1"�%)!4 �9f��"�� �f��&���*(�04 9��! 
 ,�4�!
��f$" 9��! �02 ��%��f�� ! -� �f�!�( �f����f$!f�����04 9��! 


.	��/��� ������� 02�

�	



��
�
 �2  ! !� ?���� *! -�!���( � �����$ -�� ���� ��� E � %�#� ���  %�*����&�
-��!������!� 1"�%)!5�

E = Cn =⇒ 567 (x, y) =
n∑

k=1
xkyk; 587 (x, y) =

n∑
k=2

xkyk.

E = Pn =⇒ 567 (p, q) =
n∑

k=1
akbk; 587 (p, q) =

m∑
k=2

akbk, m < n.

E = Pn[a, b] =⇒ 567 (p, q) =
b∫
a

e−tp(t)q(t)dt.

��
	
 �2  !#!� @�-! ��( ������� ��� ���"&�*(�!%� ! ������� ��� ��7!��"��%�� %�&�
�*�  %�*���02 -��!������!4 !� ����#! ��
�


��


 �2  !%!� J���&���*!�����( 9��! {f} � Rn  �  %�*���0$ -��!������!�$

(x, y) =
n∑

k=1
xkyk.

�O� f1 =


 3

6
3


 , f2 =


 −3

−2
1


 , f3 =


 6

5
2




�Q� f1 =




−3
3

−3
3


 , f2 =




3
−3

1
−1


 , f3 =




−1
9
3
5


 , f4 =




5
−5

3
5




��
�
 �2  !�!� J���&���*!�����( 9��! {1, t, t2} � P2[0,∞)  �  %�*���0$ -��!������!�
�$

(p, q) =

∞∫
0

e−tp(t)q(t)dt.

��
��
 �2  !"!� + -f� �f�� ��� �f!&���$��f!#� %!2 -�*!��$�� (ak, bk ∈ C, x ∈ [−π, π])

T2n+1 = {T (x) = an cos nx + . . . + a1 cos x + a0 + b1 sin x + . . . + bn sin nx}

 �  %�*�f�0$ -f�!������!�$ (T, S) =
π∫

−π

T (x)S(x)dx f�  $��f!���� �  ! ��$�

1"�%)!4 {e−inx, . . . , e−x, 1, eix, . . . , einx}.
�f���f!�(3 #�� "%�������  ! ��$� 1"�%)!4 �9f��"�� �f��&���*(�04 9��! 
 ,�4�!
��f$" 9��! �02 ��%��f�� ! -� �f�!�( �f����f$!f�����04 9��! 


��



��� ����������	� ����	%���� 
��	
	��&%���	+	

� �������	+	 	�����	��

�>
�
 ���� $���!)� A =


 1 −3

√
6

−3 1
√

6√
6

√
6 2


 :

�O� -�����!�(  �$� �-������� �( $���!)0 AK

�Q� -�%����(3 #�� �-������ A3 ��4 ��"56!4 � "�!�����$ -�� ���� ��� Cn  �  %��
*���0$ -��!������!�$ (x, y) =

∑n
k=1 xkyk, �������$04 $���!)�4 A3  �$� ��

-�����K

�R� ��4�!  �9 �����0� ��%���0 {tk} !  �9 �����0� ���#��!� {λk} E��&� �-������
��K

�S� -�����!�(3 #�� �&�  �9 �����0� ���#��!� ��6� �����0K

�T� -�����!�(3 #�� �&�  �9 �����0� ��%���03 ����#�56!� ���*!#�0$  �9 �����
�0$ ���#��!�$ λi �= λj, ����&���*(�0 ti⊥tj;

�V� ��4�! �������$!������04 9��! !�  �9 �����02 ��%����� {uk};
�X� -� ���!�( $���!)" -���2��� U % E��$" 9��! " ! -�����!�(3 #�� ��� "�!�����K

�Y� -�����!�( ��-� ��� ������  -�����*!�� �( ����� ��� A = UΛU ∗


�>
�
 ���� $���!)� V =


 1/4 −3/4

√
6/4

−3/4 1/4
√

6/4√
6/4

√
6/4 1/2


 :

�O� -�����!�( "�!����� �( $���!)0 V K

�Q� -�%����(3 #�� �-������ V3 ��4 ��"56!4 � "�!�����$ -�� ���� ��� Cn  �
 %�*���0$ -��!������!�$ (x, y) =

∑n
k=1 xkyk, �������$04 $���!)�4 V 3 "�!�

�����K

�R� ��4�!  �9 �����0� ��%���0 {tk} !  �9 �����0� ���#��!� {λk} E��&� �-������
��K

�S� -�����!�(3 #�� �&�  �9 �����0� ���#��!� -� $��"*5 ����0 ��!�!)�K

�T� -�����!�(3 #�� �&�  �9 �����0� ��%���03 ����#�56!� ���*!#�0$  �9 �����
�0$ ���#��!�$ λi �= λj, ����&���*(�0 ti⊥tj;

�V� ��4�! �������$!������04 9��! !�  �9 �����02 ��%����� {uk};
�X� -� ���!�( $���!)" -���2��� U % E��$" 9��! " ! -�����!�(3 #�� ��� "�!�����K

�Y� -�����!�( ��-� ��� ������  -�����*!�� �( ����� ��� V = UΛU ∗


�>
�
 ��%����(3 #�� � "�!�����$ -�� ���� ��� T2n+1 �f!&���$��f!#� %!2 -�*!��$��
� $
 ����#! ��
�3 ��
��� �!11����)!�*(�04 �-������ 9� = 1

i
d
dxT (x)  �$� �-���

���
 ,�4�! �������$!������04 9��! !�  �9 �����02 ��%�����


�




�>
>
 ���� -��-�� ���� ��� S ⊂ V3 �A-*� %� �( � -�� ���� ���A�

S = {�f = x�i + y�j + z�k ∈ V3 | x − y +
√

2z = 0}.
,�4�!

�O� �������$!������0� 9��! 0 {�p, �q}3{�n} � -��-�� ���� ��� S ! �&� ����&���*(�
��$ ��-�*���!! L = S⊥K

�Q� $���!)0 P, QK P̃ , Q̃ �-�������� P, Q ����&���*(��&� -���%�!�����!� ������
-���%������ �� -��-�� ���� ��� S, L �  ����$ 9��! � {�i,�j,�k} ! ����$ 9��! �
{�p, �q, �n}K

�R� -�����!�(3 #��
P = P ∗, P 2 = P, Q = Q∗, Q2 = Q

I = P + Q, PQ = θ

�S� ����&���*(�0� -���%)!! �g ∈ S, �h ∈ L -��!���*(��&� ��%����
�f = x�i + y�j + z�k ∈ V3.

�>
�
 �*�  �$� �-�������&� �-������� A, �������&� � "�!�����$ -�� ���� ��� Cn  
%����!#� %!$  %�*���0$ -��!������!�$ � $
 ����#" ��
�
� �  �$� �-�������4
$���!)�4 A !� ����#! �>



�O� ��4�! ����-���%���0 Pk ��  �9 �����0� -��-�� ���� ��� Fk ! -�����!�( !2
 ��4 ���

4∗
k = 4k, 4j ·4i = 4i · Pj = δijPj;

�Q� -�����!�( ��-� ��� ������ ���*����!� ��!�!)0

I =
∑

k

Pk;

�R� -�����!�(  -�%���*(��� ���*����!�  �$� �-�������&� �-�������

A =
∑

k

λkPk.

�>
�
 �*� "�!�����&� �-������� V, �������&� � "�!�����$ -�� ���� ��� Cn  %����!�
#� %!$  %�*���0$ -��!������!�$ � $
 ����#" ��
�
� � "�!�����4 $���!)�4 V !�
����#! �>
�3

�O� ��4�! ����-���%���0 Pk ��  �9 �����0� -��-�� ���� ��� Fk ! -�����!�( !2
 ��4 ���

4∗
k = 4k, 4j ·4i = 4i · Pj = δijPj;

��



�Q� -�����!�( ��-� ��� ������ ���*����!� ��!�!)0

I =
∑

k

Pk;

�R� -�����!�(  -�%���*(��� ���*����!� "�!�����&� �-�������

V =
∑

k

λkPk.

�>
	
 �� ���!�(  -�%���*(��� ���*����!�  �$� �-�������&��-������� � $
 ����#" �>
��

9� =
1

i

d

dx
T (x).
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�>


 �2 #! !6� ���� $���!)� A =


 −3

√
3 −2√

3 −1 −2
√

3

−2 −2
√

3 0


 :

�O� -�����!�(  �$� �-������� �( $���!)0 AK

�Q� -�%����(3 #�� �-������ A3 ��4 ��"56!4 � "�!�����$ -�� ���� ��� Cn  �  %��
*���0$ -��!������!�$ (x, y) =

∑n
k=1 xkyk, �������$04 $���!)�4 A3  �$� ��

-�����K

�R� ��4�!  �9 �����0� ��%���0 {tk} !  �9 �����0� ���#��!� {λk} E��&� �-������
��K

�S� -�����!�(3 #�� �&�  �9 �����0� ���#��!� ��6� �����0K

�T� -�����!�(3 #�� �&�  �9 �����0� ��%���03 ����#�56!� ���*!#�0$  �9 �����
�0$ ���#��!�$ λi �= λj, ����&���*(�0 ti⊥tj;

�V� ��4�! �������$!������04 9��! !�  �9 �����02 ��%����� {uk};
�X� -� ���!�( $���!)" -���2��� U % E��$" 9��! " ! -�����!�(3 #�� ��� "�!�����K

�Y� -�����!�( ��-� ��� ������  -�����*!�� �( ����� ��� A = UΛU ∗


�>
�
 �2 #! !8� ���� $���!)� V =


 −3/4

√
3/4 −1/2√

3/4 −1/4 −√
3/2

−1/2 −√
3/2 0


 :

�O� -�����!�( "�!����� �( $���!)0 V K

�Q� -�%����(3 #�� �-������ V3 ��4 ��"56!4 � "�!�����$ -�� ���� ��� Cn  �
 %�*���0$ -��!������!�$ (x, y) =

∑n
k=1 xkyk, �������$04 $���!)�4 V 3 "�!�

�����K

��



�R� ��4�!  �9 �����0� ��%���0 {tk} !  �9 �����0� ���#��!� {λk} E��&� �-������
��K

�S� -�����!�(3 #�� �&�  �9 �����0� ���#��!� -� $��"*5 ����0 ��!�!)�K

�T� -�����!�(3 #�� �&�  �9 �����0� ��%���03 ����#�56!� ���*!#�0$  �9 �����
�0$ ���#��!�$ λi �= λj, ����&���*(�0 ti⊥tj;

�V� ��4�! �������$!������04 9��! !�  �9 �����02 ��%����� {uk};
�X� -� ���!�( $���!)" -���2��� U % E��$" 9��! " ! -�����!�(3 #�� ��� "�!�����K

�Y� -�����!�( ��-� ��� ������  -�����*!�� �( ����� ��� V = UΛU ∗


�>
��
 �2 #!#!� ��%����(3 #�� � "�!�����$ -�� ���� ��� T2n+1 �f!&���$��f!#� %!2 -��

*!��$�� � $
 ����#! ��
�3 ��
��� !���&��*(�04 �-������ :k� =
π∫

−π

eik(x−t)T (t)dt,

(k = 0,±1, . . . ± n)  �$� �-�����
 ,�4�! �������$!������04 9��! !�  �9 �����
�02 ��%�����


�>
��
 �2 %! !� ���� -��-�� ���� ��� S ⊂ V3 �A-*� %� �( � -�� ���� ���A�

S = {�f = x�i + y�j + z�k ∈ V3 |
√

6x +
√

6y + 2z = 0}.
,�4�!

�O� �������$!������0� 9��! 0 {�p, �q}3{�n} � -��-�� ���� ��� S ! �&� ����&���*(�
��$ ��-�*���!! L = S⊥K

�Q� $���!)0 P, QK P̃ , Q̃ �-�������� P, Q ����&���*(��&� -���%�!�����!� ������
-���%������ �� -��-�� ���� ��� S, L �  ����$ 9��! � {�i,�j,�k} ! ����$ 9��! �
{�p, �q, �n}K

�R� -�����!�(3 #��
P = P ∗, P 2 = P, Q = Q∗, Q2 = Q

I = P + Q, PQ = θ

�S� ����&���*(�0� -���%)!! �g ∈ S, �h ∈ L -��!���*(��&� ��%����
�f = x�i + y�j + z�k ∈ V3.

�>
��
 �2 %!#!6� �*�  �$� �-�������&� �-������� A, �������&� � "�!�����$ -�� �����
 ��� Cn  %����!#� %!$  %�*���0$ -��!������!�$ � $
 ����#" ��
�
� �  �$� �-���
�����4 $���!)�4 A !� ����#! �>



�O� ��4�! ����-���%���0 Pk ��  �9 �����0� -��-�� ���� ��� Fk ! -�����!�( !2
 ��4 ���

4∗
k = 4k, 4j ·4i = 4i · Pj = δijPj;

��



�Q� -�����!�( ��-� ��� ������ ���*����!� ��!�!)0

I =
∑

k

Pk;

�R� -�����!�(  -�%���*(��� ���*����!�  �$� �-�������&� �-�������

A =
∑

k

λkPk.

�>
��
 �2 %!#!8� �*� "�!�����&� �-������� V, �������&� � "�!�����$ -�� ���� ��� Cn

 %����!#� %!$  %�*���0$ -��!������!�$ � $
 ����#" ��
�
� � "�!�����4 $���!�
)�4 V !� ����#! �>
�3

�O� ��4�! ����-���%���0 Pk ��  �9 �����0� -��-�� ���� ��� Fk ! -�����!�( !2
 ��4 ���

4∗
k = 4k, 4j ·4i = 4i · Pj = δijPj;

�Q� -�����!�( ��-� ��� ������ ���*����!� ��!�!)0

I =
∑

k

Pk;

�R� -�����!�(  -�%���*(��� ���*����!� "�!�����&� �-�������

V =
∑

k

λkPk.

�>
�>
 �2 %!%!� �� ���!�(  -�%���*(��� ���*����!�  �$� �-�������&��-������� � $

����#" �>
���

:k� =

π∫
−π

eik(x−t)T (t)dt, (k = 0,±1, . . . ± n).

��



��� -
���������� �	���

��
�
 ,�4�! ����&���*(��� -���9�������!� x = Ux̃3 -�!����6�� %������!#�"5 1��$"
K(x) = (Ax, x) % %����!#� %�$" �!�" (Λx̃, x̃)�

�O� K(x) = x2
1 + x2

2 + 2x2
3 + 2x1x2 + 2

√
2x1x3 + 2

√
2x2x33

�Q� K(x) = 3x2
1 + 3x2

2 + 2x2
3 − 2x1x2 + 2

√
2x1x3 + 2

√
2x2x3


��
�
 ��!�� �! "������!� -����2�� ��4 �����&� -����%� % %����!#� %�$" �!�" ! "%��
���( �!- -����2�� ��4


�O� x2 + y2 + 2z2 + 2xy + 2
√

2xz + 2
√

2yz = 1,

�Q� 3x2 + 3y2 + 2z2 − 2xy + 2
√

2xz + 2
√

2yz = 0.

��
�
 ��!�� �! %������!#�0� 1��$0 !� ����#! ��
� % %����!#� %�$" �!�" $�����$
8�&�����
 ,�4�!  ������ ��"56�� -���9�������!� %����!���


��
>
 +0� �!�(  -�$�6(5 %�!���!� :!*(�� ��� ��*�5� � *! %������!#�0� 1��$0
!� ����#! ��
� ���%��-��*�*���0$!


��
�
 ,�4�! E% ��$"$0 1"�%)!4 ���2 -���$���02�

�O� f(x, y, z) = x2 + y2 + 2z2 + 2xy + 2
√

2xz + 2
√

2yz3

�Q� f(x, y, z) = 3x2 + 3y2 + 2z2 − 2xy + 2
√

2xz + 2
√

2yz.

.	��/��� ������� 06�

��
�
 �2 �! !� ,�4�! ����&���*(��� -���9�������!� x = Ux̃3 -�!����6�� %������!#�
�"5 1��$" K(x) = (Ax, x) % %����!#� %�$" �!�" (Λx̃, x̃)�

�O� K(x) = 2x2
1 + 2x2

2 + 5x2
3 + 2x1x2 +

√
6x1x3 +

√
6x2x33

�Q� K(x) = 3x2
1 + x2

2 − 2
√

3x1x2 + 4x1x3 + 4
√

3x2x3


��
	
 �2 �!#!� ��!�� �! "������!� -����2�� ��4 �����&� -����%� % %����!#� %�$"
�!�" ! "%����( �!- -����2�� ��4�

�O� 2x2 + 2y2 + 5z2 + 2xy +
√

6xz +
√

6yz = 1,

�Q� 3x2 + y2 − 2
√

3xy + 4xz + 4
√

3yz = 0.

��


 �2 �!%!� ��!�� �! %������!#�0� 1��$0 !� ����#! ��
� % %����!#� %�$" �!�"
$�����$ 8�&�����
 ,�4�!  ������ ��"56�� -���9�������!� %����!���


��
�
 �2 �!�!� +0� �!�(  -�$�6(5 %�!���!� :!*(�� ��� ��*�5� � *! %������!#�0�
1��$0 !� ����#! ��
� ���%��-��*�*���0$!


��
��
 �2 �!"!� ,�4�! E% ��$"$0 1"�%)!4 ���2 -���$���02�

�O� f(x, y, z) = 2x2 + 2y2 + 5z2 + 2xy +
√

6xz +
√

6yz3

�Q� f(x, y, z) = 3x2 + y2 − 2
√

3xy + 4xz + 4
√

3yz.
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@���#! ��6��7!� � D�@ g ��$�#��0 •3 ���9�����*(�0� ����#! ��$�#��0 h


��
�
 �f!$���� $���� a�"  �3 ��4�!

�O�• 9��! ! f��$�f�� �( *!��4��4 �9�*�#%!  ��*9)�� Lin{q1, q2, . . .} !  ���%
Lin{p1, p2, . . .} $��f!)0 AK

�Q�• rang A3 9��! �0�  �f�%! !  ��*9)0K

�R� 9��! ! f��$�f�� �( �9f��� Ran A ! ��f� Ker A �-�f���f� A, �������$�&�
$��f!)�4 A�

A =




1 1 2 −1 −2 4
1 2 4 −2 −6 5

−3 −2 −3 1 0 −9
−3 −3 −3 0 0 −6

2 −3 2 −5 0 19


 .

��
�
 �f!$���� $���� a�"  �3 ��4�!

�O�• �96�� f�7��!� x&�  ! ��$0 *!��4�02 ������f���02 "f�����!4 Ax = bK

�Q�• f��&! $��f!)0  ! ��$0 A ! f� 7!f����4 $��f!)0  ! ��$0 A = [A | b]K
�R�• �96�� f�7��!� xoo R������ ��"56�4 ����f����4  ! ��$0 Ax = 03 9��! !

f��$�f�� �( -��-f� �f�� ��� �� f�7��!4 L0 K

�S�• #� ���� f�7��!� x�� �����4 ������f����4  ! ��$0K

�T�• -f���f!�( ��-� f�� ������  -f����*!�� �( f���� �� Axoo = 0, Ax�� = b :


1x1+ 1x2− 2x3+ 0x4+ 0x5 = −1
2x1+ 3x2− 5x3+ 0x4+ 1x5 = −4
1x1+ 2x2− 3x3+ 0x4+ 1x5 = −3

−3x1+ 1x2+ 2x3+ 0x4+ 4x5 = −5

.

��
�
 �f!$���� $���� a�"  �3 ��4�!

�O�• �-����*!��*( det A�

�Q� �9f���"5 $��f!)" A−1K

�R� -f���f!�( ��-� f�� ������  -f����*!�� �( f���� �� A·A−1 = I, A−1·A = I :

A =




−1 1 2 −1 −1
1 0 −3 1 −1
0 2 −1 1 −6
0 1 1 3 −4
1 0 −2 0 −6


 .

��



��
>
 �*� �!�&���*!�"�$�&� �-������� A, �������$�&� $���!)�4 A, ��4�!

�O�  �9 �����0� ��%��f0 {tk} !  �9 �����0� ���#��!� {λk} �-�f���f� AK

�Q� -f���f!�( ��-� f�� ������  -f����*!�� �( f���� �� 3tk = λktk;

�R� $��f!)" -�f�2��� T % 9��! " !�  �9 �����02 ��%����� ! $��f!)" Λ �-�f���f�
� ��$K

�S� -f���f!�( ��-� f�� ������  -f����*!�� �( f���� ��� A = TΛT−1;

�T�∗ ��4�! A%� 0�A -���%���0 Pk ��  �9 �����0� -��-�� ���� ��� -���**�*(��
 "$$� ��"&!2 ! -�����!�(3 #�� 4i · Pj = δijPj;

�V�∗ -�����!�( ��-� ��� ������ A%� ��A ���*����!� ��!�!)0 I =
∑
k

Pk !  -�%�

���*(��� ���*����!� �!�&���*!�"�$�&� �-������� A : A =
∑
k

λkPk.

�X�∗ �0#! *!�( ���#��!� 2���%���! �!#� %�&� -�*!��$� pA(3) ��-� ��� ������
! ! -�*(�"�  -�%���*(��� ���*����!��

A =




5 −2 3 −3
−2 1 −1 1
−3 1 −2 2

7 −3 4 −4


 .

��
�
 �*�  �$� �-f������&� �-������� A, �������$�&� $���!)�4 A, ��4�!

�O�  �9 �����0� ��%��f0 {uk} !  �9 �����0� ���#��!� {λk} �-�f���f� AK

�Q� -f���f!�( ��-� f�� ������  -f����*!�� �( f���� �� 3uk = λkuk;

�R� $��f!)" -�f�2��� U % �������$!�������$" 9��! " !�  �9 �����02 ��%�����
! $��f!)" Λ �-�f���f� � ��$3 -f���f!�(3 #�� U · U ∗ = U ∗ · U = I;

�S� -�����!�( ��-� ��� ������  -�����*!�� �( ����� ��� A = UΛU ∗K
�T�∗ -� ���!�( ����-���%���0 Pk ��  �9 �����0� -��-�� ���� ��� ! -�����!�(3

#�� Pk = P∗
k, 4i · Pj = δij Pj;

�V�∗ -�����!�( ����&���*(��� ���*����!� ��!�!)0 I =
∑
k

Pk !  -�%���*(���

���*����!�  �$� �-f������&� �-������� A : A =
∑
k

λkPk.

�X� �f��&���*(��� -f��9f������!� x = Ux̃3 -f!����6�� %���f��!#�"5 1�f$"
K(x) = (Ax, x) % %����!#� %�$" �!�" K(x̃) = (Λx̃, x̃)K

�Y�∗ �0� �!�( 2���%���  ��)!�����02 ��#�% %������!#��4 1"�%)!! K(x).

A =




−3 1 1 1
1 −3 1 1
1 1 −3 1
1 1 1 −3




��
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i β 9��� Ξ ξ % !
Γγ &�$$� J o �$!%���
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